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1. favrg enfdier &= erfufrerm, 2005 & ded o
frAfafea wol | faer wifa:
1. 3@ sAfufem g feelt off o= =1 fawm
ST & o gahts Tenfud w1 SAfusR
et e
2. 3% ded fedl Ot T= &l onfdw T
M T AT T R
IwfE FUA W 9 SE-/A e @ 222
(a) ®ad 1 (b) Faad 2
(c) 1 3R 2 gH (d T RAL2
2. = § W@ Arhurel 1 Fgfaa & geed o frefafaa
HeAl W fomm wifsE:
I =@ Frfe 3q T S 3 9 % e
AhIE F T H et 9% Y % A
T Ewedfd = &1 2l
2. iUl IR AR eAtatEE, 2013 &
AR Al | Teh feAe] SN SAferenan
S & B Hehd ¢, T | 75% wee
=Nty gegfy & B =ed|

ST oAl ¥ 9 HA-T/A e TR 287
(a) ®ad 1 (b) HaaA 2
(c) 1 3R 2 =H (d T RAE2

3. foum= e, 2019 & 93 H fm=fafea womt
R fa=r wifsa:
1. 39 99 &l fova-agg ‘adft & o sem’
off|
2. 39 TN 1 ™A AR fourE w3 e
J Rdr faarTe wiftesior, et atteies
ST 9fis % geam 9 fEa
ITE woAl § 9 BA-T/A TE B2
(a) T 1 (b) waa 2
(c) 13k 2 <t (d Fd 1 RAL2
4, ‘far’ & Hed A fmfafed ol m fa=r
EAISRE
1. =@ HAfST Hiwee % ded &3 u e
1 U & HE H HRO 10 dehl W
SRS GRI SHMT ST T
2. fawe #1 aod ‘HERd BRdeedrgs
Yo WA SR YE’ €
3. 39 g% & WeEW W UHe g W 2 fA
T GHY o R

ST el ¥ 9 wA-T/A T T 287
(a) Haet 1 3R 3 (b) T 2
(c) ®ae 2 3R 3 (d 1,2 33

1. Consider the following statements in the context
of the Special Economic Zones Act, 2005 :
1. This act will allow trusts to setup units in
special economic zones (SEZ).
2. Under this act, no trust is allowed to install
an economic unit.
Which of the statement(s) given above is/are not
correct?
(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

2. Consider the following statements in the context
of appointment of Lokpal which was recently in
news :

1. The Committee constituted for the
appointment has agreed to the name of
Pinaki Chandra Ghosh as the first Lokpal of
India.

2. According to the Lokpal and Lokayukta
Act, 2013 Lokpal can have a chairman and
a maximum of eight members, out of which
75% must have a judicial background.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(c) Both 1 and 2

3. Consider the following statements in the context
of Aviation Conclave, 2019 :

1. The topic of this conference was 'Flight for
Everyone'.

2. The Ministry of Civil Aviation, in
association with Airports Authority of
India, Cargo Logistics and Allied Services
Company Limited and Confederation of
Indian Industry organized this conclave.

Which of the statement(s) given above is/are
correct?

(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2
4. Consider the following statements in the context
of ‘SWIFT”:
1. Ten banks have been fined by the RBI for

non compliance with directions related to
this messaging software.

2. SWIFT means 'Society for Worldwide
Interbank Financial Telecommunications'.

3. It takes 2 days to get paid through this

network.
Which of the statement(s) given above is/are not
correct?
(a) 1and 3 only (b) 2only
(c) 2 and 3 only (d) 1,2and3
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5. frafafea oAl W fo=m Fifse:
1. il wu & WM g Rt g Wer
Tt firerdt € 3R Rord s gr @iia den
TE T W GEEA <A H9E € 2
frave wuf w1 Tw Wy faere
THeUEHH-faY Td wfee wufEl Am @
T ¢ goft wEE w5 T 2

STE wedl W ¥ wE-"A T 2R
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 <=t (d) Td 1 R 2

6. Trefafaa weml o ¥ -9 T &Y 272
(a) 19 THEiaT, SSAER TSROl &% IRYE °
aeqetl 3R weneti & fatd enfientor 9
Haiferd 21
(b) o Tmgian, Seameh! & Tdishicqes awl =
i anffertor 9 Fafed 2
(c) A wwelar, sieife fesmedt & fed
i anffertor | Fafed 2
(d) s o, mfgenet g1 gohTs I arell Toh
99 AN
7. freAfafad el § 9 Sia-a 98l T2 872
(a) T =eel SHUM S Hamdl 9 2l
(b) 9N HfY THUE IR Teh T
e B, frwen geaem 8 foett o 2
(c) 143 HfY faa™ HIW H1 A 8 ot
¥ fwan
(d) TR &9 311 ¥@d $ I=d ARMIH
frem 1
8. e few@hee T (THERR) & 9ed ¥ f=fafaq
FeAl W =R Fifse:
. T8 T Yow ¢, fod wfge =1 efae =
Y qTaF RN H Gl AR, S h
T
2. 39 S IR AR & oftw u gd Freifa
U § G A S ® SR -3
yfaerd & &9 o oFe fehan S 2l

ST HeA H W HHA-A TE B2
(a) Faa 1 (b) e 2
(c) 1 3R 2 <t (d Td 1 RAE2

5. Consider the following statements :

1. Forex reserves are strengthened through
currency swaps and it becomes possible
to provide quick and timely support by the
Reserve Bank.

2. Asset Companies  (AFC),
Loan Companies (LCs) and Investment
Companies (ICs) have been merged to make
a new category called NBFC - Investment
and Credit Company (NBFC-ICC).

Which of the statement(s) given above is/are
correct?

Finance

(a) 1 only
(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2

6. Which of the statements given below is not
correct?

(a) The Nice Agreement is related with the
International classification of Goods and
Services for the purposes of registration of
trademarks.

(b) The Vienna Agreement is related with
International Classification of the symbolic
elements of trademarks.

(c) The Locarno Agreement is related with
International classification for industrial
designs.

(d) Pink Taxes is a visual cost paid by women.

7. Which of the statements given below is not
correct ?

(a) National Rice Research Institute is in
Sitamarhi.

(b) Indian Council of Agricultural Research is
an autonomous body, which headquarter is
in New Delhi.

(c) 14th Edition of Agricultural
Congress was held in New Delhi.

Science

(d) CR Dhan 311 is a high protein rice variety.

8. Consider the following statements in the context
of Merchant Discount Rate (MDR) :

1. This is a fee which is paid by merchants
who accept payments using credit or debit
cards, to the bank.

2. It is shared between a bank and a merchant
in a predetermined ratio and the transaction
is expressed as a percentage.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2
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9, ‘emEEidienE d%’ % wed § frefated s |
T hiA-a GEl T B2
(a) 9 e o g0 39 o 1 st 8
% o i guft § w2l
(b) THSTEHT gRT 39 S | 51% fewan sifemmom
feran T ©
(c) 30 % I Red o &1 dehlel GERHS
HREE TRE ® 3farid @ T g
(d) THSTEHT gRI 39 S | 75% fewan sifemmom
feran T ©
10. U @Y d9d wN & G o fAfataq s
T foar Fifsa:
1. 39 IRI 9RG &t dfua Ay | s
O OH-S7 i B SR YRGS ae
AR e ¥ ITRT Hared ghfved

HT B
2. YRA W T W HI TAOA 1999 H HI
T et
IwE FUA W 9 SE-"/A T 282
(a) ®ad 1 (b) Had 2
(c) 13X 2 <Hf (d Fd1 R 2

11. =9FE goeg & 9y ¥ fefafed &wedl =
faar wifs:
. s e 3 R R T A
et W GHYE i dRed & fod
Eld
2. I8 9d HER § feerd Uw giodug 2
3. fod =1 war 39 fafewr feg wemmi
g9 % &9 § G Hr ot

ST el W W wA-G/H W 2/R?
(a) Fad 2 (b) wad | 3R 3
(c) ®ad 2 3R 3 (d) wod 3

12. Ffafad wa W faer S
1. 9c€ 1 RuR FArEde =9 oAfhd oh
T TS HEY FE@d g YHIeE JoE
e 21
2. Tl S-7 WHE 1 Ul WIS ¥, S =
#1 dee U Ued § wfHed g9 S @l 2
STde wodl ¥ 9 BA-T/A TE 22
(a) Faad | (b) FadA 2
(c) 1 3R 2 =H (d T eRAE2

9. Which of the following statement is not correct in
the context of ‘IDBI Bank'?

(a) This bank has been kept in the category of
private sector bank by the Reserve Bank of
India.

(b) 51% stake has been acquired by LIC in this
bank.

(c) This bank has been kept under the prompt
corrective action framework of the Reserve
Bank.

(d) LIC has acquired 75 percent stake in this
bank.

10. Consider the following statements in the context
of National Small Savings Fund :
1. Its objective is to remove small savings
transactions from the Consolidated Fund
of India and to ensure its operation in a
transparent and self-reliant manner.
2. This fund was established in India in 1999.

Which of the statement(s) given above is/are
correct?

(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

11. Consider the following statements in the context
of Chagos Archipelago :

1. The international court has asked Britain to
evacuate this archipelago and to hand back
it to Mauritius.

2. It is an archipelago located in the Pacific
Ocean.

3. The British government referred to it as the
British Indian Ocean Territory.

Which of the statement(s) given above is/are
correct?

(a) 2 only

(¢) 2 and 3 only

(b) 1and3 only
(d) 3 only
12. Consider the following statements :
1. The World Drug Report is a major report

published by the United Nations Office of
Drugs and Crime.

2. Italy is the first member of the G-7 group,
which is going to join China's Belt and
Road initiative.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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13. afyaes gerered fdie, 2019 & w3 o frefataa
FUAl § W HE-T TS T 22

(a) 39 RO &+ ¥aq fase™ aoe™ Jeas A
S feen 21

(b) T GereTe 39 | fheie AR gER o
3 W ?1 g SR W W W HE:
T T A R

(c) 39 9 & wrd &1 ToM 13541 2

(d) 39 RO &1 TwRE §gF T & dEay™
o 2012 9 B @ R

14. frfafaa weAi | foer wifsE:

1. US4 3RS WNA 1 =l gy a1 HRER!
TERR 2 T S fEuafi AR T 28
fafem <fert =1 2

2. TIE R H a9 Yard qRdg fader 9 oF
JUUT % HHS § dE T W R

IwE FUA W 9 SE-"/A T 82
(a) ot 1 (b) Fad 2
(¢) 1 3R 2 F (d T RAE2

15. ofd &Y YR &R, 2018 & G3d H
frefafed & 9 SHE-91 & 7@ 22
(a) S, Iifd T&Y YR o1 3R Arifien
ATEUH IR (HICHNEAN) & HedrTeh
T§ Yo fRemes off o
(b) HaA Ti. TEA sl hl WA fogH & &
o 78 QEhR fean T 2l
(c) S OIS ARIRN] IR €. ofa| geifed Wi
Sha o & & ® g8 QEhR o e 2l
(d) Tk o 45 T @ Y g H ATl Bl
fowe 5 auf § 39 S dAE FE &
o gefa feman S 21
16. =8 T & §eY ¥ fAfafad wo | fa=ur
Hifer:
1. 2018 1 I8 THM AL’ TSI il 3T
oA GIe ‘foraa @ 3o I’ & ferd e
T R
2. 3 WM % q&d .. foRell ®ISSYE g
Hadl IR @ T 73 S )
3. 2017 1 98 HM HAA HIT Hl 3T
ST g gaam' & et e e

ST He H W HHA-A TE R/E?
(a) ®ae | 3R 3 (b) wad 2 3R 3
(c) ol 1 AR 2 (d) ®ad 2
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13. Which of the following statement is not correct in
the context of Global Happiness Report, 2019 :

(a) This report has been released by the
Sustainable Development Solution
Network.

(b) Finland ranked as the world's happiest
country for the second consecutive year, the
second and third positions are occupied by
Denmark and Norway respectively.

(c) India ranked 135th in this report.

(d) The publication of this report is being
carried out under the aegis of the United
Nations since 2012.

14. Consider the following statements :
1. Saudi Arabia is the fourth largest trading

partner of India and its bilateral trade with
India is about 28 billion dollars.

2. Diaspora living in Saudi Arabia are third
rank in terms of remittances from overseas

Indians.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

15. Which of the following statement is not correct in
the context of Shanti Swaroop Bhatnagar Award,
2018?

(a) Dr. Shanti Swaroop Bhatnagar was also the
founder and first director of the Scientific
and Industrial Research Council (CSIR).

(b) Only Dr. Rahul Banerjee has been given
this award in the field of chemistry.

(c) Dr. Ganesh Nagaraju and Dr. Thomas
Pucadyil have been given this award in
Biological Sciences.

(d) Every year scientists under the age of 45
years are honored for their outstanding
scientific work in the last 5 years.

16. Consider the following statements in the context
of the Vyas Samman :

1. This honour has been awarded to Leeladhar
Jagudi for his poetry collection ‘Jitne Log
Utne Prem’ for the year 2018.

2. Only 4 Lakh rupees are given by the K.K.
Birla Foundation under this honour.

3. The 2017 honour was presented to Mamta
Kaliya for her novel ‘Sukkham Dukkham’.

Which of the statement(s) given above is/are
correct?

(a) 1and 3 only (b) 2 and 3 only

(c) 1 and 2 only (d) 2only
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17. fAfafed worl | fo=m wifsa:
1. f3 wfe2019 9Ra siR Aifem & <=
fopan T T WY S 1 ®
2. SR WY & WS #I AfEHE hedd o
3eI-F9 TSHS JRASHI i YEIT Hi TE|
3. %A 90 T & fava ¥ qag o6 aqen
ek i THT ® TG H W Sl 2

SUg sl § W wiA-G/d w22
(a) a1 3R 2 (b) wad 2 3R 3
OEESE! @ 1,2 3R 3

18. Fr=fafed wemi W fomm wifs@:
1. 9Rd 1 98 Bed gL Todl o1d foma
G 9IS BUAR e 2 &7 T B
2. FleEh & IW Hg foael 1 Fae gort’
1 Semd 3 9gE fHar w2
ST For § § HH-TA TE B2
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <t (d Td 1 ARAE2
19. 9¢€ @S ®E R TR & G § frefafea
FeAl W =R Fifee:
. 9% T AUy Ser §ed B
2. TEH T ‘HR T fafen =’ R
3. TEH A 1961 § fasiols § T e
TR H T H g Al

U el § W wA-G/d e /R?
(a) Faad 1 (b) Hee 2 3R 3
(c)Faal 1 X2 (d) 1,2 3R 3

20. Sa-fafgudr W ‘g 1iF T I’ g e &
Hed # fr=fafed saa w fomm s
1. SHHT 1497 e 2018 | ¥ 311 3@

(frm) o gam
2. TG 1591 e 2020 § sifs (FF) |
e 21
STdE wedl W ¥ wE-"A T 2R
(a) Had | (b) HaA 2
(¢) 1 3R 2 F (d T RAE2

21. fFfafad s w fa=r wifsa:
1. f@+10 (Sergsrt TEe), 2002 F geat
e, 2002 ® 919 9 «ff S S 2

2. & +20 T & HYUl TEAES I GRRM
‘T ®ER A A’ & AW " ga
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17. Consider the following statements :

1. Mitra Shakti-2019 is a joint military
exercise between India and Mauritius.

2. The Indo Russian Rifles Project has been
started at the Ordnance Factory at Amethi
in Uttar Pradesh.

3. Krem Puri cave is known to be the longest
sandstone cave of the world.

Which of the statement(s) given above is/are

correct?
(a) 1and 2 only (b) 2and 3 only
(c) 1 only (d) 1,2and3

18. Consider the following statements :
1. Saudi Arabia has become world's largest
arms importer country, leaving India behind.
2. The ‘Sirsi Supari’ of Uttar Kannada district
of Karnataka has been given GI tag.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
19. Consider the following statements in the context
of the World Wide Fund for Nature :

I. It is an
organisation.

international  governmental
2. Its slogan is ‘For a living planet’.
3. It was constituted as a charitable trust in
1961 in Switzerland.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) 1 and 2 only

(b) 2and 3 only
(d) 1,2and3
20. Consider the following statements in the context
of the ‘Conference of Parties’ to the Convention
on Biodiversity :
1. Its 14th convention was held in 2018 in
Sharm Al-Sheikh (Egypt).
2. Its 15th convention is proposed to be held in
Beijing (China) in 2020.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

21. Consider the following statements :
1. Rio+10 (Johannesburg Summit), 2002 is
also known as the Earth Summit, 2002.
2. The outcome document of Rio + 20 Summit

was published under the name ‘The Future
We Want.’

641, YoM &, g@Est R, fEeet-110009
GIHM: 011-47532596, 8750187501
i—ﬁﬁ: helpline@groupdrishti.com, aﬁmﬁ_{: www.drishtilAS.com
W: https://www.facebook.com/drishtithevisionfoundation

Copyright — Drishti The Vision Foundation



iThe Vision

Sude el W W wE-"/A gE T 22
(a) et 1 (b) Fad 2
(c) 1 3R 2 =F (d) Fd 1 RAL2

22. fafem we fae, 2018 & wed & fr=fafaa
HoAl W fomm wifsE:
1. I8 RUR y&e® 5 9 W YehId i St
2
2. 39 fu ¥ g=iad W aFeEe fafaft
% YOE & Y- e, gSnaa &
feregeiehon, Hiwsti 1 Heho TS HYR W
e o el W == 6 R 2

U el W W wA-G/H W 22
(a) ®ad 1 (b) A 2
(c) 1 3R 2 =H (d T RAE2

23. Tieed @R % §ed H frefafed weuAl ®) fa=m
EAIERE
1. 7% ufeadt orEH SR WRd-9eE &1 g
Y G2 okl | T S R
2. ST # T fee ¥ T v
Gehera= w1 goft § @1 T R
3. Tieed TR &0 qRESH hi J[EsTd 3T9H
fafearsr ¥ 1998 ¥ &1 T of

U el W W wA-G/H Wl 22
(a) Fac 1 32 (b) Hod 3
(c) ®ad 2 3R 3 (d) 1,2 33

24, fove gaq faem R a9, 2019 & W34 o
frefafea wul ® faar wifa:
1. SEHI STESH 9RA % el AN GEEH
HeaH g foRan
2. Tl SR TEeE ey A fest ¥ gaq
fomm & fod fesl & gamEsi we
SR 1 Fad fah™ Tged R, 2019
§ gt e B
ST oAl § 9 wA-T/A T 2R
(a) Haad 1 (b) HaA 2
(c) 1 3R 2 <A () Ta1 ST 2

25. 9Ra a9 fearfa RO, 2017 & STER waityew 3
&he ATl Tl 1 el S hH-E1 B2
(a) AT TR, ITXUTES WSV, DAMATE
(b) STEUEA YWY, DUEE, TeF TR
(c) ST T3V, STXum=ad Wa¥l, faer
(d) HET YR, TR, ST U=Y

Which of the statement(s) given above is/are not
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

22. Consider the following statements in the context
of the Living Planet Report, 2018 :

1. This report is published every 5 years.

2. This report discusses the effects of human
activities on wildlife as well as its influence
on forests, species extinction, shrinking of
boundaries and oceans.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

23. Consider the following statements in the context
of Golden Langur :
1. It is found in Western Assam and areas
adjoining the Indo-Bhutan boundary.
2. This species has been placed in the
endangered category in the [IUCN Red List.
3. The Golden Langur Conservation Project
was launched in 1998 in Assam zoo.

Which of the statement(s) given above is/are
correct?

(a) 1and 2 only (b) 3only

(c) 2 and 3 only (d) 1,2and3

24. Consider the following statements in the context

of Global Sustainable Development Summit, 2019:

1. It was organised by The Energy and

Resources Institute of India.

2. The Energy and Resources Institute

has awarded the Prime Minister of Fiji,

Frank Bainimarama with Sustainable

Development Leadership Award 2019 for
sustainable development in Fiji.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
25. What is the decreasing order of the states with

maximum forest area, according to the India State
of Forest Report, 2017?

(a) Madhya Pradesh, Arunachal Pradesh,
Chhattisgarh

(b) Arunachal Pradesh, Chhattisgarh, Madhya
Pradesh

(c) Uttar Pradesh, Arunachal Pradesh, Bihar
(d) Madhya Pradesh, Rajasthan, Uttar Pradesh
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26. ‘TeHiEhRS ded UwUfEe’ fovH @ wed o
frAfafea wu | faar wifa:

1. 9% A8 % Bfaih i TR Hriwn
% ded Uw foeE €, TN@ emed 2020 #
NiscRERIESIT

2. 9% geall i ARl el H SiaUw sfaRa
VYA W Tenfud fwan smom)

3. 3EH IRV e Fifa s @ fF sud
agHed ¥ fafa= aal 1 e fhe TR
Fafter & HiEH &1 GEeE L 2

ST el § 9 wA-E/A TE 2R
(a) T 1| (b) wad 2 AN 3
(c) o 1 3R 3 (d) 1,23 3
27. 'R gu@E R’ & UM | frefafed weml w
IEEESCAISRR

1. S & 99 o9 36 guaE e &1 fmio
== gr feran S

2. 9% R UHl X BN, S TeIEhd
1eriq wfa Sehe U fafeas ToE S o
HeH B

3. TOH! Tie 1@ a% fftfa gag wifademett
HHR G 7 T IR 2008 H fAfHa derma
T 1000 AT SAfeR BRI

ST Fwedl § 9 HA-T/A e TR 287
(a) Haa 1 (b) e 1 3R 3
(c) ®ad 2 3R 3 (@ 1,2 3R 3

28, ‘T T Wedl ot e famn’ & wed o
ffafed wa W foer Fife:

1. 78 @Ry fafda 2

2. T Y S 3R o wfaser (o),
e Tt gARA qon T SEuH iR faw
TANTEE (FER) FR WIH ®U W
foepfaa fman T 21

3. U ARfYH ARE erwar 70 ¥ 80 fertl.
oft, St foTehT o1 11 % W9 100 ¥ 110

ol & T R
ST For H § HHA-TA TE B/
(a) ®acd 1 3R 2 (b) Hod 3
(c)®ael 1 @R 3 (d) 1,2 X3

29. fean Hfan TRH wH & @& | f=fafed o
¥ HA-9 WA 7?2
1. =9 2037-38 T fafy= &= o siaem A
H 20% W 25% dH FH BT
2. o 2037-38 T IfiaeH el AWIT H 25%
T 40% dIH HH F

26. Consider the following statements in the context
of ‘Atmospheric Waves Experiment’ Mission :

1. It is a mission under the Heliophysics
Explorers Program of NASA which will be
launched in August , 2020.

2. Tt will be established in the outer earth orbit
on the International Space Station.

3. Its objectives to determine how the
combination of various forces drive space
weather in upper atmosphere.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2and 3 only

(c) 1and 3 only (d) 1,2and3

27. Consider the following statements in the context
of the “‘Aurora Supercomputer:

1. This fastest supercomputer of the world will
be built by China.

2. This will be the first computer capable of
computing on Exascale that is 1 billion
computations per second.

3. Its speed will be 7 times that of the most
powerful computer built yet and 1000 times
that of Petascale built in 2008.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and 3 only
(d) 1,2and 3

28. Consider the following statements in the context
of ‘Pinaka Multi Barrel Rocket System’ :
1. It is indigenously built.
2. It has been jointly developed by Armament
Research & Development Establishment
(Pune), Research Centre Imarat and Defence
Research & Development Laboratory
(Hyderabad).
3. Its initial range was 70 to 80 km which has
increased to 100 to 110 km with Pinaka

Mark II.
Which of the statement(s) given above is/are
correct?
(a) 1and 2 only (b) 3 only
(¢) 1and 3 only (d) 1,2and3

29. Which of the following are included in the goals
of India Cooling Action Plan?
1. To reduce the cooling demand in different
sectors by 20% to 25% by 2037-38.
2. To reduce the cooling energy demand by
25% to 40% by 2037-38.
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3. a4 2037-38 & weRe fewig & 25%
T 30% qoh HH H

4. 99 2022-23 Tk BV ARG THE & FEA
q giafET ot & 1,00,000 TR 1
SiRTerr SR YHO-9S Sqered YAl

h:
(a) Had 1,2 3 4 (b) Hod 2,3 3R 4
(c) ®ad 1,3 3 4 (d) 1,2,3 3 4

30. frafafad woml W faar st

1. 9Rd TR g a9 2003 | goAia fafsm
Uil hdsRA AR R T e

2. I49M B 39 $EFT HI 21 T Ud 4 T
It geel § = S @l 2

3. 39 HMHA & qed dd [99UE HuE &
ford 92 o 20 wfaed a@ seEia faern
sAfrar e T 21

IwE FUA W 9 SE-"/A T 282

(a) Haa 1 (b) @ee 1 ¥R 2

(c) ®ad 2 3R 3 (@ 1,2 3R 3

31. fr=Afafad somi | faar wifs3:

1. Ggo T AR | HT Wl e
(TEFT-4) &= & et § erEifea foman
el

2. qUAET-4 w1 fava ‘vEiEReig HfdE @ik

HAd YA A1 IAEA =Y AT THIEE

ol
ST el § W wiA-G/H W 2R?
(a) Had 1 (b) HaA 2
(c) 1 3R 2 =H (d T SRAE2

32, 9YE T2 TR0 9 & Wed W frAfafed
Fodl § ° SE-T/A T T 20
1. SHHT ST 99 2000 H foran e
2. IE G T2 YAGR0] HhIdHhH 1 YLMEH
IREIRES
3. dfyae wafer Hifqar 8g wefishand feifa
FH RN A watern HA fasmtd

FH & ol TH T 1 SRS Y&w
CLERERI IS iy

h:

(a) Faed 1 AR 3 (b) Had 2

(c) ®ad 2 33  (d) 1,2 33

3. To reduce the refrigerant demand by 25% to
30% by 2037-38.

4. To make the training and certification
available to 1,00,000 technicians in the
servicing sector by the year 2022-23 with
the assistance of Skill India Mission.

Code:
(a) 1,2 and 4 only
(c) 1,3 and 4 only

(b) 2,3 and 4 only
(d) 1,2,3and4

30. Consider the following statements:

1. Ethanol Blended Petrol Programme was
in the year 2003 by the
Government of India.

introduced

2. Currently, this programme is being run in
21 states and 4 union territories.

3. Under this
compulsory for the oil marketing companies
to mix upto 20 percent ethanol in petrol.

programme, it is made

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1 and 2 only
(d) 1,2and 3
31. Consider the following statements:

1. The fourth summit of United Nations
Environment Assembly (UNEA-4) was
organised in Nairobi, Kenya.

2. The theme of UNEA-4 was ‘Innovative
Solutions for Environmental Challenges and
Sustainable Consumption and Production’.

Which of the statements(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

32. Which of the following statement(s) is/are not
correct in the context of the United Nations
Environment Assembly?

1. It was constituted in the year 2000.

2. It is the administrative body of the United
Nations Environment Programme.

3. Summit of this assembly is organised
every year to set the priorities of the global
environmental policies and to develop the
international environment law.

Code:

(a) 1and 3 only (b) 2 only
(c) 2 and 3 only (d) 1,2and3
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33. frafafad ol W faar sifs3:
1. o= feafa Ru 2017 & 3T9ER 9RA H 21.54
HfeeTd JEeRoT 2
2. 97 feafa fai 2017 & $19ER 2.85 wfawd
T R0 B
ITE wedl § 9 BA-T/A T 2R
(a) FaA 1 (b) Had 2
(c) 1 3R 2 <+t (d Fd 1 RAL2
34, I A¥AA Uk & Hed ¥ Frefated s
T foar Sifsa:
1. AfHerg ® a9 1982 H THeh! TATITT HT T8

off|
2. 99 1984 H 3O U 3T wifyd feHan
ol
3. Tl 99 2006 § 39 % YW fadelt e Hi
TAMYT T TE eff
IrfE FUAl W 9 SE-F/A 98 TE 2R
(a) Fael 1 32 (b) Hod 3
(c) ol 1 R 3 (d) 1,2 3R 3

35. ‘gehi-dfafed W' & "o o frAfefed weom o
Y SHE-9/4 & 2?2

1. 399 B orelt fdfafeal et (Herr)

sifufad, 1986 & ded fafafia gt 21

2. 9 fagidl % STgER sHe famr foneht

Hiferd &9 & oI 20 fRH. 9 & TR

¥ g "kl Bl
3. UH &5 | W wE St G eTHfd gl
2
he:
(a) e | (b) Fae 2 3R 3
(c) ®aa 1 3R 3 (d) 1,2 3R 3

36. fr=fafad ol W faar wifs3:
]. et % SR Bg ST R YR et
1 SEYFhdl el 2l
2. dffierrg % wEaR o § feord sUe &
¥ SME WM ot godl ki vl | e
Tehash o1 e 21
ST el § W wA-T/A "W 22
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <=t (d Td1 AR 2

37. ‘Bold—QIT' ufsmr & §eyd ¥ frAfafad wet
T foEr Sifsa:
1. 5| % ¥t 9ot § 9Ra-airenser |
W EEHT YOI B T 2

33. Consider the following statements :

1. According to the State of Forest Report
2017, India has 21.54 percent tree cover.

2. According to the State of Forest Report
2017, India has 2.85 percent forest cover.
Which of the statement(s) given above is/are
correct?
(b) 2only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

34. Consider the following statements in the context
of the Bannerghatta National Park :

1. It was established in Tamil Nadu in the year
1982.

2. It was declared a National Park in the year
1984.

3. The first Butterfly Park of the nation was
established here in the year 2006.
Which of the statement(s) given above is/are not
correct?
(a) 1and 2 only
(c) 1and 3 only

(b) 3 only

(d) 1,2and3

35. Which of the following statement(s) is/are correct
in the context of 'Eco-Sensitive Zone'?

1. Activities inside this are regulated by the
Environment (Protection) Act, 1986.

2. According to the general principles, it can
expand up to a range of 20 km around any
protected area.

3. There is a conditional permission for the

mining activities in such regions.
Code:
(a) 1 only (b) 2and 3 only

(c) 1and 3 only (d) 1,2and3

36. Consider the following statements :
1. The production of turmeric requires cold
and dry climate.
2. The turmeric grown in the Erode region
of Coimbatore in Tamil Nadu has recently
been awarded the Geographical Indicator

Tag.
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
37. Consider the following statements in the context
of ‘Bold-QIT’ project :
1. It has been started in the Dhubri district of
Assam on the India-Bangladesh border.
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2. IE A Uehihd HH Ya& YoTell & q8d
T dehls Seifia afEsE €, S s
Td TEH! e ARAl & & W R«
% fafv= dod 1 Tema o 9 w1 gran
gHfy=aa wan
SudE el W W wE-"/A T 22
(a) ®ad 1 (b) A 2
(c) 1 3R 2 =F (d) Fd 1 RAL2
38. ‘ThEHS SR FTEUM TEAN Hagd AeHI-
e’ TEd & 93d | frAfafed Fuml W faEr
FHife:
1. 9RA R A SHa 2019 | 31 A, 2022
e o fordl g e i Hs 4 T R
2. 3EH HEeE & fod 9RdE genfiest
G, TR T TH=FhN GEM 2l
3. TH W& A HEIE 31 fogel o wemy
eIl & o9 STREHE T TG T an
I G AR RA & Iod T8I0 Gl
¥ o guM uRged 1 dedl I

IwE FUA W 9 SE-"/A T 2
(a) ®ad | 3R 3 (b) wod 2
(c) Had 2 3R 3 (d) 1,2 3R 3

39. ‘e fefsea a2’ & T’ o ffafad swemi
R fa=r Hifsa:

1. fgeT SR ol T W™, YRd ThR
B <9 H TurEErgul forem o agren 39 g

THHT JEAC HI T T
2. TH AN & SId TR 1.5 G HeAfhe/
HIfeR Sl Thall i entha feman S
3. TEH! SRS dIR wEH B WEE
ST % g H U& 9fHfd Tfed &

TS off|
STde oAl § 9 BA-T/A TE 22
(a) Fac 1 32 (b) Hod 3
(c) Fael 2 3R 3 (d) 1,2 3R 3

40. ‘9= e aE’ & g3 A feAfafea wu w
fomm ifsa:
1. & Teh Hestsid oA §, S qed: e
T et & Frdig & § wE S /)
2. TO% AU T B R & 790 T § TH
T o EH a5 fird )

3. 9% HRU A H "k Uaitsiehel SRt
B "ehdl 2

2. It is a technology-based project under
the Comprehensive Integrated Border
Management System, which will ensure
fenceless border security with various
sensors in the riverine area of Brahmaputra
and its tributaries.

Which of the statement(s) given above is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and 2

38. Consider the following statements in the context
of ‘Scheme for Promotion of Academic and
Research Collaboration- SPARC” initiative :

1. The Government of India in January 2019
approved for its implementation by March
31, 2022.

2. Indian Institute of Technology, Kharagpur
is the national coordinator institution for its
implementation.

3. Its aim to improve the research scenario
in India’s higher education institutes by
facilitating the academic and research
collaboration between Indian institutions
and the best institutions of the world.

Which of the statement(s) given above is/are

correct?
(a) 1and 3 only (b) 2 only
(c) 2 and 3 only (d) 1,2and3

39. Consider the following statements in the context
of the ‘Operation Digital Board” :

1. This has been started by the Ministry of
Women and Child Development to promote
quality education in the country.

2. Nearly 1.5 lakh high schools/senior
secondary schools will be included under
this scheme.

3. A committee was formed under the
leadership of Professor Jhunjhunwala to
Prepare its work plan.

Which of the statement(s) given above is/are

correct?
(a) 1and 2 only (b) 3 only
(c) 2 and 3 only (d) 1,2and3

40. Consider the following statements in the context
of the “West Nile virus’:

1. This is a mosquito-borne disease which
mainly found in the island regions of the
United States of America.

2. Its symptoms were recently observed in a
child in the state of Assam in India.

3. This can cause fatal neurological disease in
humans.
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SudE el W W wE-"/A T 22
(a) ®ad | 3T 3 (b) et 2
(c) aet 2 3R 3 (d) 1,2 33

41. frafafaa sl | foer wifsE:
1. oY R H ST 9F A6 ¢ I Hed
T4 gferor 9eg Yot W@ T Rl
2. I 3 HT 184 A WA B

U el W W wA-G/H W 2/R?
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <t (d) Fd 1 RAL2

42, ‘oo oM %d ¢ TR fiasa’ & &3y ¥
fr=fafad ol | faur St

1. 98 U el g ki foarsa €, foeest a1
&l 250 ¥ 300 feretidier 2|

2. 3G fTaerma T gy iR fawm dien

N 9RA soRited fafide o wra

et fofee & deant 9 foman @ 2

U el W W wiA-G/d Wl 22
(a) T 1 (b) A 2
(c) 1 3R 2 =H (d T eRAE2

43. 9% st fufen & e o frefafea el
foam wifea:

1. I8 Wihfask 1 & e fifen &t uh il

Tk @, TRt SUEmT TS &% Y

Akl H WA A feon wEeE & o
FW 2l

2. U9 H5oh So4 A qehiih 1 SYART Bl

2, fod wreft faedl, s *1 i, e

T T 37T 3R FA-TeeR & a0 i e

T fie feman S 2
ITE wedl § 9 BA-T/A T 2R
(a) Haad 1 (b) HadA 2
(c) 1 3R 2 <A (d) Ta1 SR 2
44, fTrafafed g ® fa=ar wiE:
(ormedyf &) (=)
1. ISt e EEIE]
2. TFETR e e wew
3. SR ot BN
ITw T ¥ wH-A/Y T8 gafed 287
(a) ®ad 1 (b) wad 2 3R 3
(c) ol 1 3R 3 (d) 1,2 3R 3

Which of the statement(s) given above is/are
correct?

(a) 1and 3 only
(c) 2 and 3 only

(b) 2only
(d) 1,2and3
41. Consider the following statements :

1. The new railway zone being made in Andhra
Pradesh is named South Coast Railway.

2. It will be 18th railway zone of the Country.
Which of the statement(s) given above is/are
correct?

(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

42. Consider the following statements in the context
of ‘Quick Reaction Surface to Air Missile’ :

1. This is a long distance missile with a range
0f 250 to 300 km.

2. It has been developed by Defence
Research and Development Organisation in
association with Bharat Electronics Limited
and Bharat Dynamics Limited.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

43. Consider the following statements in the context
of Bagru block printing :

1. This is a traditional technique of printing
with natural colors, which is used by the
people of Chippa community living in the
remote areas of Rajasthan.

2. It uses Dabbu printing technique in which
a mixture of black soil, babul gum, floor of
bad wheat and limestone is printed on the

cloth.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

44. Consider the following pairs :

(Wetland Area) (State)
1. Kanjli lake Punjab
2. Rudrasagar lake Himachal Pradesh
3. Dipor Bil Tripura
Which of the Pair(s) given above is/are correctely
matched?
(a) 1 only (b) 2and 3 only

(c) 1and 3 only (d) 1,2and3
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45, Treafafed wa W fo=m Fifse:
1. T = Heel 32 &5 § & 9y S 2
2. Hiid o S qEEN Bl g A
A &5 HI M H 2
3. 9 ® gawed fava &1 ged fagga Hue

o Bl
ST wedl ¥ 9 HA-A/A T T 287
(a) et 1 (b) FaA 2 R 3
(c) ®ae 1 3R 3 (d 1,2 33

46, frefafad womi W faar wifs3:
1. Yool Th YohR 1 §iq &, S S[oreel e
Teheh IR 1T aTel & |1 Hesiead § &dl
2l

2. vaIA 1 Fram i T TR | S e
3. YO YE: T TE Wes R 9id § U

ol
ST For § § HH-TA TE B2
(a) ®ael 1 AR 2 (b) w3
(c) ol 1 3R 3 (d) 1,2 @R 3

47. frefafad woi W faur Sifs3:

1. o1 H wINES fie SH & SRoT 3drE-3a8
T I B

2. S ° Hhetqan e S % SR Sheled
FARITEE e U B R
ST Fer H § HHA-T/A TE /7
(a) FaA 1 (b) FadA 2
(¢) 1 ¥R 2 T (d T 1 SRAE2
48. M WA & §ed o FAfafed wal W fo=r
HIfST:
1. 7€ sivded o U = 2
2. THS! HEAA WO 1 gRTE SieHA @
3. 398 B2 BH 1 YHW ®RE FE g
4. THY BT WYY GIHA g HAIfEH |
<@ T
5. 399 B A B hl Uk BG 1987 H
Hifogae THEar g3 ol
ST HeAl ¥ W wE-9 FE 22
(a) FaE2,3,4 X5 (b) Haa 1,2, 4 S
(c) ®aei1,3,4 3R 5 (d) 12,3,43W 5
49. TS 99 GRETOT Wi & wee | frm=farfaa
Fol W foeR Fifs:

1. I8 qAiaRl, a9 Ud Sorarg gRedd Hared
% o7 Tifsa we wifatues fHeE 2

45. Consider the following statements:
1. Mangrove forests are found only in the cold
regions.
2. Mangrove forests protect the coastal region
by reducing the effectiveness of storm.

3. Sundarban in India is the largest mangrove
forest of the world.

Which of the statement(s) given above is/are not
correct?

(a) 1 only (b) 2 and 3 only

(c) 1and 3 only (d) 1,2and3

46. Consider the following statements :

1. Coral is a type of animal which lives
in symbiosis with an algae named
zooxanthellae.

2. Corals live in the deep sea.

3. Corals are usually found in warm and clean
sea water.

Which of the statement(s) given above is/are
correct?

(a) 1and 2 only (b) 3only

(¢) 1and 3 only (d) 1,2and3

47. Consider the following statements :

1. Itai-Itai disease occurs due to mixing of
fluoride in water.

2. Disease named Skeletal Fluorosis occurs
due to mixing of cadmium in water.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
48. Consider the following statements in the context
of the Ozone Layer :
1. It is found in the Troposphere.
2. The unit of measurement of its denseness is
Dobson.

3. Chlorine is the main responsible factor for
a hole in it.

4. A hole in it was first seen in Antarctica by
Farman.

5. Montreal Protocol was made in 1987 to
prevent the hole formation in it.
Which of the statements given above are correct?
(a) 2,3,4and Sonly (b) 1,2,4and5 only
(¢) ,3,4andSonly (d) 12,3,4and 5
49. Consider the following statements in the context
of National Tiger Conservation Authority :
1. This is a constitutional body under the
Ministry of Environment, Forest and
Climate Change.

WS 2%

(Magazine Test)

HH I

(General Studies)

5 The Vision

641, YoM &, g@Est R, fEeet-110009
GIHM: 011-47532596, 8750187501
i—ﬁﬁ: helpline@groupdrishti.com, aﬁmﬁ_{: www.drishtilAS.com
W: https://www.facebook.com/drishtithevisionfoundation

Copyright — Drishti The Vision Foundation



iThe Vision

2. THG Y IRV, 91 TS Seerg HaAl

B 2l
ST wedl § 9 BA-T/A T 2R
(a) ®ad 1 (b) A 2
(c) 1 3R 2 <A () Ta1 ST 2

50. frefafad woml W faar st

1. T Hi1 o i fow 9ra § € qe e
2

2. WHS ARG hi Haifas e nfewn
T 2

3. @t dier fafewn, e we9r qen
TS & Sl o urn S el

ST el § W BA-A/A T 2R

(a) ®ad 1 (b) wod 2 3R 3

(c) ol 1 R 3 (d) 1,2 3R 3

51. fr=fafaa o ) faar s

|. =% eieq fale § suftem 18 fog ¥
el o oo ga Afues e @ TR wel
Y YT T YTHA TET e 2

2. ‘=t B’ VK HT HWAYH WAN WIHA
gifRT o fopam e

ITE woAl § 9 HA-T/A T 22

(a) Had 1 (b) Had 2

(c) 1 3R 2 g (d) Fd 1 RAL2
52. fAfafea wol | faar wifsa:

1. favm wifem & d8d Td-Eemee famsa
g T 992 ¥ U aRd 9IRdE s
HI THAAgas AR R T

2. TH-Heze fhume fawn srfe-fiema
AR Teare TR fethy fawey &1 g 2

3. 9Rd 9% &Hdl eee S aren fowa @
A 9 o T R

IrfE FUAl W 9 ST/ 8 @ 2R

(a) T | (b) et 2 3R 3

(c) ®ad | 3R 3 (d) 1,2 33

53. Ffafaa wol ® faar wifa:

1. SHM Tshwu et afEs @ SR
ST o ST & 9 H sl 6
aTedt Wit 1 furfer e )

2. S STIHAV & Ted SUAT 310 & HiaX
fFrdierse & T HH HI qal Al
S B

2. Its chairperson is the Minister of
Environment, Forest and Climate Change.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2

50. Consider the following statements:

1. The one-horned rhinoceros are found only
in India.

2. The largest number of crocodile sanctuary
is in Odisha.
3. Red Panda is found in Sikkim, Arunachal
Pradesh and Darjeeling.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) 1 and 3 only

(b) 2 and 3 only
(d) 1,2and3

51. Consider the following statements :

1. Black holes are holes present in the Space
Where gravitational force is so high that
even light cannot pass through it.

2. The term ‘Black Hole’ was first used by
Stephen Hawking.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

52. Consider the following statements:

1. Under Mission Shakti, a live Indian satellite
was Successfully knocked down by the
anti-satellite missile in a minute.

2. Anti-satellite Missile system is a mix of
Agni missile and the Advanced Air Defence
System.

3. India became the third country in the world
to have acquired this capability.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(c) 1and 3 only

(b) 2and 3 only
(d) 1,2and 3
53. Consider the following statements :

1. The objective of the Genome Sequencing
related project is to educate the next
generation of students about the utility of
genomics.

2. In Genome Sequencing, the accurate

sequence of nucleotides inside a DNA
molecule is identified.
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SudE el W W wE-"/A T 22
(a) et 1 (b) ®aa 2
(c) 1 3R 2 <A () Ta1 ST 2

54, ‘arA-SESER UEifER % el frefatea
FAl W fo=m Fifee:

1. =9 UEifTh &1 TeeH e Riege S
ST, dHerg & IReR | feran T

2. 3E RN § aE-SEs $h % "
oA Teh Sia-irered gl €, S Hie Je
H AERE R [ ST RS S weRd
el Sl § Refdd s 2

3. 39 draifie & wwifes wEsifeaa
TR dehieh 1 SN TR STl )

IwE wUAl W 9 SE-"/A T 82
(a) Had 1 (b) e 2 3R 3
() Faal 1 32 (d) 1,2 3R 3

55. ‘TAudfae AEHifead TR ed’ & "W #
freafafaa ol ) faar s

1. 78 SR @9 €, S uel g i i
e Wi ¥ giEfdd e 2l

2. 3 SR HEEan agd Vel g
g, S wErE: 5 ferlt afewew 9 45 feuft
YfewE & o= W B FHhd 8

STE wodl § 9 HA-T/A TE 22

(a) HaA 1 (b) Haa 2

(c) 13 2 <t (d Fd 1 RAL2
56. frafafad ol W faar wifs3:

1. GR el siaier ami w1 UE wEarfad yoie
et €, St g S fafu= ari g s
faferor & o © eiafter amt i fa ¥<E=
FHa|

2. wEeHd-2 e 9] afdm o weiid s@
3 T Ui 8, TN Wi, it
% el WY FX 9 @i fema T

SudE wedAl W W wE-"/A T 22
(a) Haad 1 (b) HadA 2
(c) 13 2 <F (d) Fd 1 RAL2
57. ‘Sfvae el ThAY GERH-2019' & T H
frAfafea wo | faar .
1. T4 fova enfefer o= gr1 SRy femen e 2
2. 39 guHIk H WRA I 7891 TIH U

g3 T
IwE FUA W 9 SE-"/A T 22
(a) Had | (b) HadA 2
(c) 13 2 <Mt (d T2

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

54. Consider the following statements in the context
of ‘Bio-digester technology :

1. This technology was demonstrated in the
campus of National Institute of Technology,
Tamil Nadu.

2. In this technology, a Bio-toilet is attached
with a Bio-digester tank which converts
human faeces to Bio-gas and reusable water.

3. In this technology, the Anaerobic Microbial
Inoculum Technique is used.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2and 3 only
(c) 1and 2 only (d) 1,2and 3

55. Consider the following statements in the context
of ‘Anaerobic Microbial Inoculum’ :
1. It is a bacterial consortium which converts
sewage into gas and water.
2. These bacterial consortiums are very strong
and they can work from 5 degree Celsius to
45 degree Celsius generally.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

56. Consider the following statements :

1. Solar-Sailing is a proposed propulsion
method which will propel spacecraft using
the radiation generated by various stars like
the Sun.

2. LightSail-2 is a project for demonstrating
controlled solar sailing, launched in
Kennedy Space Centre at Florida, America.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
57. Consider the following statements in the context
of ‘Global Energy Transition Index- 2019’ :

1. It has been issued by the World Economic
Forum.

2. India has been ranked 78th in this index.
Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2
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58. ‘siifera fieet wgen’ & Wl & f=fafed womt
R fo=r Hifsa:

. 98 g=1 ®9 9 wera, &% ok srectifew
WM & T Sid | 9 S e 9hs
FPA FI TH AW SRR H HARN
w2l

2. % 9fg o oTe-wE & Wi wRa H e,
qAMHETg, A, Y Y qeA SAfewn &
T qef H W W A H & fod om 2

3. SMEYHTE 3 W T faw A W g
w1 goft & @ w2l

ST wedl § 9 HA-A/A T T 287
(a) Fad 1317 2 (b) wad 2
(c)®ael 1 8IR3  (d) 1,2 3R 3

59. frafafad womi ® faar Fifs:

1. a9 2018 H 9RA H HeA SEATFRS &
IS ¥ ghg g ¥ 3 a9 98 IS
o (emfkT e +fM) &1 qer #
aAfeeR off|

2. a9 2018 ® 9ra ® uyfa =afed &
SIZTRTES IS dfvaeh 31Gd 1 SH
50% T T, Safeh hTee SENFARE
FH dfYesh IS W WRA 1 feElEd

6% ot
ST oAl ¥ 9 HA-T/A T 22
(a) HaA 1 (b) HadA 2
(c) 1 3R 2 =H (d T SRAE2

60. ‘®HM T g AR’ & G | fAfafaa
Fol W foeR Fifea:
1. ¥ Sgsiel AVANTY A & SRR fofel
¥ feord ©1
2. 30 YIRUI & Tk BRE M, ‘relen
JUGR’ I FYEANTT AR SHE H-IY
% STl qA SeRl % & Bg o1 ©
Yeg® WR' § gt R T R
3. g M STHRHT & AL FATER0T FISH

g T 2
SUgF weAl ¥ W wH-G/A w22
(a) Facd 1 32 (b) Hod 3
(c) ot 2 AR 3  (d) 1,2 3R 3

61. ‘a1ef R’ & W o f=fafeaa oMl W faar
e
1. 39 HEHA &1 SASH FgF T TeR0
R g TR S @)

58. Consider the following statements in the context
of ‘Olive Ridley Tortoise :’

1. It is a medium sized carnivorous species of
marine turtles found mainly in the warm
waters of the Pacific Ocean, Indian and the
Atlantic Ocean.

2. These come to the coasts of Goa, Tamil
Nadu, Andhra Pradesh and Odisha during
April-May to lay eggs on the sands.

3. It has been places in the vulnerable category
in the Red List issued by ITUCN.

Which of the statement(s) given above is/are not
correct?
(a) 1and?2 only
(c) 1and 3 only

(b) 2only
(d) 1,2and3

59. Consider the following statements :

1. In the year 2018, the increase in the
emission of Carbon dioxide in India was
more as compared to that of the two largest
emitter countries (United States of America
and China).

2. In the year 2018, the per capita Carbon
dioxide emission in India was found to be
50% of the world average, while the share
of India in the total global emission was 6%.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

60. Consider the following statements in the context
of ‘Fakim Wildlife Sanctuary’ :

1. This wildlife sanctuary is situated in the
Kiphire district of Nagaland.

2. One of the forest guards of this sanctuary
‘Alemba Yimchunger’ has been awarded
with ‘Earth Day Network Star’ for the
conservation of the sanctuary and the forests
and animals around it of America.

3. This award has been given by the
International Environment Organization of
America.

Which of the statement(s) given above is/are
correct?
(a) 1and 2 only (b) 3 only
(c) 2 and 3 only (d) 1,2and3
61. Consider the following statements in the context
of ‘Earth Hour’:

1. This programme is organized by the United
Nations Environment Programme.
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2. 9% HE®EA Ul IR 2008 ® faedt
(eRferan) o smifsa foam wTam

3. 39 HEHA H WAHE Ij2ZF A I
ey uRadd & el & Ufd SEs

T B
IrfE FUAl W 9 ST/ € @ 2R
(@) a1 32 (b) Hod 3
(c) ®ad | 3R 3 d 1,2 33

62. frafafad woml W faar wifs3:
1. A9 9 ¥ e 8 59 i yara fafa
o yorer fasH w1 g9En S 8 W@ el
2. Jeftcie ® fm ofid 8@ g9 W i 1
ey <farolt warer fafa o St 2
IE FUA W 9 ST/ € TE 2R
(a) ®ad 1 (b) Haa 2
(¢) 1 3R 2 =F (d T R 2
63. Frefafad womi | faar wife:
1. 99Nd HETEFR § 9% & e 995t @@ &
T BN H1 T I - HEl ST
2. -1 § WS Gde 1 A9HE 9gd FH

Bl S R
STE oAl § 9 HA-T/A TE 22
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 =H (d T2

64. 'V 3 gee g Rad-2019" & Hed o
ffafed wa W foer Fifea:
1. 38 RO % 319ur 9rd ® 9fd Afgen &«
T S Y 1969 & 5.6 W THT 9 2019
¥ 238 ® T
2. THS® IEER I8 2010 R 2019 ® ™
qRd &1 e " 1.2% 9fd a9 &1 gfg

& 2

ST HoHl § 9 wH-GUA TE /22
(a) HaA 1 (b) A 2
(c) 1 3R 2 <A (d) Tar1 eRAE2

65. ‘GIH T2 SHEA &' & °ed § frefated
FHel R faar Hifsdr:

1. TR el foshreRiial 3o i SEHen
gfg & wmfes w@ onfeew fHfeaef =
fawg o Tome 37 qu AL SHEE
FTIHAT B FHLF T TG T9 1969 H HI
TS o

2. 9 1990 ¥ 3@ oMk IR R HIH
T U 9 AW fe=n T

2. This programme was first organized in
Sydney (Australia) in 2008.

3. The primary objective of this programme is
to make people aware towards the impacts
of climate change.

Which of the statement(s) given above is/are not
correct?

(a) 1and 2 only (b) 3 only
(c) 1and 3 only (d) 1,2and3

62. Consider the following statements :

1. The problem of coral bleaching in the coral
reefs of Lord Howe Island has been arising
due to increase in temperature.

2. The southernmost coral reefs of the world is
found on the Lord Howe Island situated in

New Zealand.
Which of the statement(s) given above is/are not
correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

63. Consider the following statements :

1. The phenomenon of warming up of the
coast near Peru in Pacific Ocean is known
as El-Nino.

2. The temperature of ocean surface becomes
extremely low in La—Nina.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

64. Consider the following statements in the context
of ‘State of World Population Report-2019° :
1. According to this report, the Total Fertility
Rate per woman in India has dropped from
5.6 0of 1969 to 2.3 in 2019.
2. According to it, there has been 1.2% per
year increase in the population of India
between years 2010 and 2019.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

65. Consider the following statements in the context
of “United Nations Population Fund’ :

1. Itwas established in the year 1969 in order to
advise developing countries with reference
to the social and economic implications
of population increase and to support the
national population programmes.

2. It was officially named as the United
Nations Population Fund in the year 1990.
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3. I8 G TS HEWHl &1 Ush HelHsh 317 2|

ST el § W wiA-G/d e /2
(a) ®ael 1 AR 2 (b) ®ad 2
(c) Faet 1 X3 (d) 1,2 3R 3

66. Frafafad ol W faar wifs3:
1. ORI T & odw S w1 &THAT
Tl HT T Tk SAERR SE 2
2. =9 O o Aigend difed et ¥ SR IEw
7q AUl & aEE e B
ST oAl § 9 HA-T/A T 2R
(a) ®ad 1 (b) HaA 2
(c) 1 3R 2 <A (d) Ta1 SR 2
67. slfedt I & ded o Fr=fafed oMl W faur
EAISDE
1. 39 93 %1 3g9a sfifewn & Hid § 9
HE AT IeRifEEt ¥ ge o
2. 3@ T K QY ERY GET ‘wleR’ 3R
RECUMRS
3. 3@ I 1 Seo@ Treredl § firerar 21
ST el § W BA-A/A T 22
(a) a1 (b) wae | 3R 3
(c) ot 2 AR 3 (d) 1,2 3R 3
68. ‘HI-qlTet g§' & ded H F=fafad wud |
fo=m wifsa:
1. 39 g3 = ¥ fovags & "equ gsi
o 9 uH T S R
2. TE IS H UM WA A WE G STRHT
FTh T 3R THH AE-TH B e W
THeall A hi A FAE o

ST Forl H 4 HH-T/A TE TR 822
(a) o 1 (b) ®ee 2
(c) 1 3R 2 <=t (d Td 1 ARAE2

69. Fafafad wadl W faar St
. 9Rd | 24 S0 A € 9ol & Sed
AR 1 AMYHR &3 Th 9 3 T
T 2
2. 9N & qEA e SR Tegufa i gere
H TF & TSI §RI Sed ed & &
=iy 1 fgfa &1 S )

ST He H W HHA-A TE R/E?
(a) & 1 (b) A 2
(c) 1 3R 2 <t (d) Fd 1 AL 2

3. Itis asubsidiary organ of the United Nations
General Assembly.

Which of the statement(s) given above is/are
correct?

(a) 1and?2 only (b) 2only

(c) 1 and 3 only (d) 1,2and3

66. Consider the following statements :
1. Haemophilia is a hereditary disease
affecting the capacity to form blood clots.
2. Women are affected from this disease while
the men are the carriers of this disease.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

67. Consider the following statements in the context
of Odissi dance :
1. The origin of this dance occurred from the
Devdasis dancing in the temples of Odisha.
2. Two fundamental gestures (mudras) of this
dance are ‘Chauk’ and ‘Tribhang’.
3. The mention of this dance is found in the
inscriptions.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and 3 only

(c) 2 and 3 only (d) 1,2and3

68. Consider the following statements in the context
of ‘Kangla-Tongbi Battle’:
1. This battle is considered to be one of the
important battles of the First World War.
2. Inthis battle, the Japanese army had planned
to seize Imphal and surrounding areas by
attacking from three sides.

Which of the statement(s) given above is/are not
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

69. Consider the following statements :

1. There are 24 High Courts in India and the
jurisdiction of two High Courts lies in more
than one state.

2. The chief justice of the High Court is
appointed by the Governor of the state in
consultation with the Chief Justice of India
and the President.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
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70. fr=fafad el | faar wifsa:
1. YR & Yed UREHA AENT &1 T3 1962

o foean T e
2. gdu™ gfRE™E 2011 &1 SETOHET W
et 2l
STE wedl W W wE-"/A T 2R
(a) ®ad 1 (b) Haa 2
(¢) 1 3R 2 F (d T RAE2

71. Tr=fafed woal ® foar wifsa:
1. 9 U9 URvE Th HaHe gt
a2

2. U 99 fod 16 e &l HART S

2
ST el W W wA-G/H W 2R?
(a) ®ad 1 (b) A 2
(c) 1 3R 2 =H (d T RAL2

72. 'R AT AT U SATSHSHRT
faem’ & W3 ¥ frefafed ol | faar wifsa:
1. THHT YEAE 2014 § HI TE|
2. 399 Y% IRER ¥ TH HAfee S Hi
IMTHA 3 gC Afeen @ TR T8 &
e feran e B
ST el ¥ 9 HA-A/A e TE 287
(a) T 1 (b) A 2
(c) 1 3R 2 <+t (d Fd 1 RAL2
73. ‘EAIA STEAE UM Hived A’ & He
¥ frefafed weml w foem Fifsm:
1. 39 IS H @I R & SIS
afee #1 SHEifers oy o wuiaid
YT €, Il U019 w1 T dfveren
w9 H Il 9l A HHR ® 9 &
w9 o foear <1 gl
2. TG AN i IS a¥ 2014 H & T
ST oAl § 9 HA-T/A T 2R
(a) Had 1 (b) HaA 2
() 1 3R 2 <= (d Fd1 A2
74. ‘TN WG fiRm’ & W1 # frefafed s
R foEr Sifsa:
1. SHHT YHAT 99 2018 H HT TEI
2. THH AL HMITSR-3AMd® S S0
% 3ffhgl W eHIRd e SR HHSAR o
% 10 e ¥ Aty TREr &1 3w
TN 1 GieHT Sueed HAl B

70. Consider the following statements :

1. The first Delimitation Commission of India
was constituted in the year 1962.

2. The present delimitation is based on the
census of 2011.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
71. Consider the following statements:

1. Press Council of India is a constitutional
quasi-judicial autonomous authority.
2. The National Press Day is celebrated on

16th October.
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

72. With reference to the ‘Deen Dayal Antyodaya
Yojana - National Rural Livelihood Mission’
Consider the following statements:

1. It was started in the year 2014.
2. Init, a women self-help group is constituted
by including one woman member from each

family.
Which of the statement(s) given above is/are not
correct?
(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

73. Consider the following statements in the context
of ‘Deen Dayal Upadhyay Grameen Kaushalya
Yojana’:

1. The aim of this scheme is to transform the
demographic surplus into demographic
dividend so that the rural India can be
developed as a source of skilled workers
who are globally preferable.

2. This scheme was started in 2014.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

74. Consider the following statements in the context
of ‘Ayushman Bharat Mission” :

1. It was started in the year 2018.

2. Its objective is to make free treatment
available to more than 10 Crore families
belonging to the poor and the weaker
classes based on the data of socio-economic
caste census.

3. Under it, each family is provided with the
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3. 9% 3idifd ufd ad g 9Rar &t T 5
@ q% & s s & giaen uge

1 S 2
ST wedl § 9 wA-T/A T 2R
(a) ®ad | (b) Heet 2 3R 3
(c) a3 (d 1,2 3R 3

75. freafafad womi R faar wifs:

1. TS Yeauia FSHT 1 @8 <9 961 | gfa
el ST 1 SAAT HTAT T AMfeh foehTd
B S HT 10% HET ol

2. TIREdl UHaHid A w1 A 9% hi
faema@ < 1 qIfger HET ol

ST el W W HiA-G/H W T 287
(a) Had | (b) HaA 2
(c) 1 3R 2 =H (d T RAE2

76. ‘BEUEY UREEA T’ o Had § Frefaraad
HYT R fa=r wifsa:
1. 39 99 o9 §W 9Nd ® IO i &
o ga-qor ant w1 g fRa w2
2. 39 GRANH & TR TR 57 @ |
siferenifi S < aREE st R
ST ST B
ITe woAl § 9 HA-T/A T 22
(a) Had 1 (b) Had 2
(c) 1 3R 2 g (d) Fd 1 RAL2
77. fFed & Wi H fmAfafed wal W faeur
EAISDR
1. foxfta dier &1 Gferd &9 § s el
S B
2. ‘gfem fres RO, 2019' & oER,
fefStea #o1 yerar wufal 1 9Ra & H0
IR § oduE AEH 23% B, e ad
2023 T 48% TH T AN 2l

SUge sl § W wA-G/d T 22
(a) HaA | (b) HadA 2
(c) 1R 2 <At (d) T SRALE2

78. fimt it & wed o foefafed o 9 wE-@
E 72
(a) 39 TR H Hard w1 iR w fAfeed
sty & ford g s IR wnfae
B €
(b) 39 ThAH | fRdl =afaq &1 Therar ST
fafere fagomar w faRk el 21

facility of free treatment upto (15 Lakhs
annually.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 and 3 only
(c) 3 only (d) 1,2and3

75. Consider the following statements :

1. The aim of the tenth five year plan was to
double the per capita income and make the
annual growth rate 10% of GDP.

2. The aim of the eleventh five year plan was
to achieve a growth rate of 9%.

Which of the statement(s) given above is/are not
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

76. Consider the following statements in the context
of Hyperloop Transportation Technology :
1. Loop one has chosen Mumbai-Pune route
for its project in India.
2. This project has already been declared as
official infrastructure project in the past by
Mabharashtra Government.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

77. Consider the following statements in the context
of FinTech :

1. Finance Technology is known as FinTech in
short.

2. According to the ‘India FinTech Report,
2019’, the current contribution of digital
lending companies in the Indian loan market
is 23%, which is estimated to become 48%

by 2023.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

78. Which of the following is correct in the context of
Gig Economy?

(a) This economy includes freelance work
and project-based employment for a fixed
duration.

(b) The success of any person in this economy
depends on one’s unique ability.
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(c) IT SHIAH! TRR ‘gard Yfae srefeaen’ &
®q H ST S 2

(d) ST @il

79. fose T WererEdes ($H7) & Ged |
frafafed wol W foer Fifsa:

. %% &R 7 9Rd & 93«
el & wEfed § 39-fa5e 3K
TRICETIdaT® & T U8 o goil ol Hepdl
& 2

2. IE A fom & WEE BH H WU-"Y
39 &t Gyt foeiia wawen &1 freme o
Bl B

3. TEH TR0 Hhed HE W W B E

IwE FUA W 9 SE-FUA w1 2
(a) a1 (b) wod 2 3R 3
(c) Faal 1 3R 2 (d) 1,2 3R 3

80. WA duHEs sfear wigee fafiee & wgd
T fr=fafas wo w® faar Fifsa:

1. T WY St A, 2013 & d&d
9 fe@eR, 2014 &1 &I TEI

2. 3 9RAE R o g 2 @, 2015

Teh Tds S9He SHaEIe & &9 H [l

Tl
ST wodl § 9 HA-A/A T 22
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 =H (d T RAE2

81. THHU-2] Ui & §ey o fr=fafaa s
R fa=r wifsa:
1. I8 FHUNS AEC & HACHE, YRd GHR
BN frafed T Cwe-afET deee’ B
2. 9% ded fafe= swes & wu fem
% Ted SR ®9 B SH A hi STAN
TSE & T 2
ITE wedl § 9 HA-T/A T B2
(a) FaA 1 (b) waat 2
(c) 13k 2 <t (d Fd 1R 2
82. IMA TIPS R W TaHHe (TASTEUHSH)
% Hed # frefafeg wel § 9 sHE-9rd ge
T 22?2
1. 9% G Uit 9o S & faw
* o U= wredde &) fawfen & dea
2002 ® &M TE Th R-aAWHE w2
2. 79 freft sl wreefes &5 &1 arfed
HHL: 51% a4 49% Tl

(c) This economy is often known as ‘Free
Talent Economy’.

(d) All of the above.

79. Consider the following statements in the context
of the Comptroller and Auditor General (CAG):

1. The central government has approved the
creation of the post of a Deputy Comprtoller
and Auditor General in the office of the
Comptroller and Auditor General.

2. He is also the controller of the whole
financial system of the country apart from
being the guardian of the public finance.

3. It's control is exerted only at the central
level.

Which of the statement(s) given above is/are
correct?

(b) 2 and 3 only

(d) 1,2and3

80. Consider the following statements in the context
of Financial Benchmark India Private Limited:
1. It was established on 9th December 2014
under the Company Act, 2013.
2. It was recognized by the Reserve Bank of
India on March 2nd, 2015 as an independent
Benchmark administrator.

(a) 1 only
(c) 1and 2 only

Which of the statement(s) given above is/are
correct?

(b) 2only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

81. Consider the following statements in the context
of MCA-21 Project :

1. It is a ‘Path-Breaking Project’ implemented
by the Ministry of Corporate Affairs,
Government of India.

2. Various documents have been allowed
under it to be submitted electronically in
accordance with the company rules.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

82. Which of the following statement(s) is/are not
correct in the context of National Institute for
Smart Government (NISG) :

1. It is a not-for-profit company created
in 2002 under the recommendations of
National Task Force for the Development of
Information Technology and Software.

2. The share of private and public sector in it is
51% and 49% respectively.
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He:
(a) o 1 (b) Had 2
(c) 13X 2 g (d) Fd 1 RAL2
83. di-7le® & Hed ¥ Fafafad wedl W fa=ar
i
1. 3= wfefauedt Hic el W 21 e gn
foreft frawe sy €9 § 9RdE R
R 4 e w1 2
2. TR THHE ‘T ACas selfasiered’
(TR , B el el 37 foreeft weerri
% S feran s 21
ST e § Y A T
(a) Fa 1 (b) e 2
(c) 1R 2 Al (d Ad 1 SR 2
84. WAt Wi WES Whi & §ed # frefataa
HoAl W fomm wifsE:
1. I€ IS HHAME i HIA & IR TAZA
2q 37T a9 1 STAN I F1 Glaen I&H
EZoild
2. fooft &3 & o 4 39 @MW % AeAm 9
FHHAE T T 5,000 HUS TIC TIE
FH F1 UfHA I H B
STF HeAl § 9 HE-w/A gE T 22
(a) o 1 (b) wad 2
(c) 1 3R 2T (d) Fd 132
85. e Beed & Wy H fAfafad ol W fo=r
EAIEpE
1. . 7 faarfed Tem sred W ToEel S
O 3 R
2. g 3feoit-ufvedt Hifen § ush gekien 18R
2, Toreh Tsifass e WwHifas wew 2

ST HoAl § 9 wH-GUA TE /22
(a) HaA | (b) HaA 2
(c) 1R 2 <At () Ta1 SR 2

86. ‘1T ®E' & T o frefafad el § 9 wE-w

e T 27

(a) T& Th AT Gred 2, T s@va
UFETT e o w@reed 1 s=e B 8

(b) T8 gEAed e, faesrete # 2

(c) 39 I 39 g5 A1 faus & @ |
Ted fEem 2

(d) Y& e fea wiqerd 7 9 1 @0 S 2

Code:
(a) 1 only
(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2
83. Consider the following statements in the context
of P-Notes:
1. These are called Participatory notes.
Foreign investors invest indirectly in the
Indian share market through these.

2. These are used by means of High-Network
Individuals (HNI), Hedge Funds and the
other foreign institutions.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2

84. Consider the following statements in the context
of Employee Stock Purchase Scheme :

1. This scheme gives the facility to the
employees to use their salaries for buying
shares of the company.

2. The private banks have started the process
of collecting 5,000 Crore Rupees from the
employees by the means of this scheme.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2only

(d) Neither 1 nor 2

85. Consider the following statements in the context
of the Golan Heights :

1. U.S. has recognized Israel’s sovereignty
over Golan Heights.

2. It is a rocky plateau in the south-west Syria
having political and strategic importance.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
86. Which of the following statements is not correct
in the context of ‘Red Cross’?
(a) It is an international organization whose
objective is to save human life and health.
(b) Its headquarters is situated in Geneva,
Switzerland.
(c) Its primary objective is to provide relief
during the times of war or crisis.
(d) Red Cross Day is celebrated on 7th May
every year.
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87. Trefafad werl o 9 ®iA-w ¥ &Y 2?2
(a) 3T HeoTeR, TaRHN 3R BIgU® i Aied
TEATA ® TG H S W B
(b) TZufd WHIfde S FITRE & Fared THEH
gmE ‘T Sifet e T T difaeema’ 9
FrtAd feRam T
(c) WA IR WA gR diciht § dot R
T % o wwEian fean T R
(d) YIRS WS Uferea-atferpd ydR o feor B
88. frafafad woml W faur wifsa:
1. Sier] 9 & YAE i Ak aq Aa
IIM Al ey wAeRy &R el
ot ® 2019 & AEE MG [EHR &
fer fa femen T 2

2. el & fagm e diex asi=l & Telled
=R wrgs’ e T R

U el § W wiA-a/d el T 287
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 =F (d T RAL2

89. 7Y TRV S=d A & Gy H fmfafed
HYT R fa=r wifsa:

1. TARER TEHE & a3 =i foawm

T I 3@ e o Frge fmen T R

2. 1 e, 2019 1 39 <A 1 TG

1 g ot
ST woAl § 9 HA-T/A T 22
(a) & 1 (b) waa 2
(c) 1 3R 2 <A (d T eRAE2

90. fr=fafea & ¥ fova w1 =+ Jeeht wfeen Tgdfa
SIS ST I T §?
(a) TAeTeRaT (b) et
(c) W (d) TH

91. fr=fafed § 9 SH-91 69 IR &1 999 e
wifsifea e (wET) @ Hefua 82
(a) ST =W (b) 3TEH

(c) Frgu (d) wforge

92. Frefafad werl & @ ®iA-91 & &Y 872
(a) dice HFEA-2019, WA IR fEMR & =
128 S 2
(b) Toeiite 1 St Yord RE o/ g /e o
GR el gRI Herfeld WRd 1 Yl o
YA o1 T 2

87. Which of the following statements is not correct?

(a) Al Salvador, Guatemala and Honduras are
known as the Northern Triangle.

(b) President Kovind has been honoured with
the highest civilian award of Croatia i.e.
‘Grand Order of the King of Tomislav’.

(¢) India and Iran have entered an agreement on
building an oil refinery in SriLanka.

(d) Sharda Peeth is situated in the Pakistan-
occupied Kashmir.

88. Consider the following statements :
1. Swedish Greta
Thunberg who raised the voice for stopping

environment  activist

the impact of climate change has been
nominated for the 2019 Nobel Peace Prize.
2. The science teacher of Mali, peter Tabichi
has been given the ‘Global Teacher Prize’.
Which of the statement(s) given above is/are not
correct?
(a) 1 only
(c) Both 1 and 2

(b) 2 only

(d) Neither 1 nor 2

89. Consider the following statements in the context
of the Andhra Pradesh High Court :

1. The senior judge of Allahabad High Court,
Vikram Nath has been appointed in this
court.

2. This court was established on 1st January,

2019.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

90. Which of the following country's first woman
president Zuzana Caputova has elected?

(a) Slovakia (b) New Zealand
(c) Morocco (d) Turkey
91. Which of the following states belong to the first
Carbon Positive Village (Phayeng) of India?
(a) Uttar Pradesh (b) Assam
(c) Tripura (d) Manipur
92. Which of the following statements is not correct?

(a) Bold Kurukshetra-2019 is the 12th military
exercise between India and Singapore.

(b) The Bairabi railway station of Mizoram has
become the first railway station of India
totally run by solar energy.
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(c) g AT I FIFd SR HRG & Falied
A ordie S Hed’ 9 wEitg feRan

T B
(d) 21 A/l I AW a9 fgad w1 A
fepan ST 21
93, ‘fava offfesw wmewar feaq’ & @3l o
frAfafea wol | faer wifa:
1. 2019 ¥ 3§ faq =1 o9 ‘wem@es dreifie,
gfepar rieRt’ ot

2. W oY 3H 2 3Tl 1 TR Wl B
3. HYF T He™H 7 2007 ¥ 39 a9 &

YO T e
STE el W W wE-"/A T 2R
(a) T 1 (b) wad 2 3R 3
(c) ®ad 1 3R 2 (d 1,2 3R 3

94. frfafad el R foar sifsa:
1. =l & Teemuw =f. fRfveea el
Y3t A % SHfead W Yes ad 10

e 1 Torva Breelt foam smifsa fean
S 21
2. Yo oY WRA § 7 3Tel i Usrd wHs
feerg HAmn S 2
3. fave wmen feaw widad 7 eda 1 7=
S 21
IwE FUA W 9 SE-"/A T 82
(a) Fad 2 (b) wod 2 R 3
(c) ®ad | 3R 3 (@ 1,2 3R 3

95. frefafad sui W faar sifs:
1. U 9E A i faEien & e
H 9@pfa #3@@ g0 2012 ° qRHE
RISEIRRAENERCTRICERC R
2. <R T T wen @ T Ty
figM &1 T@-1@ W et e o 2l

ST el W W wA-G/H W 2/R?
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <At (d) Fd 1 RAL2

96. ‘&N ATWYM S fas™ @ed' & Hed H

frefafad ol ) faar s
1. 39 A T Wgek GRE Siel T 2
2. SIAREE H yq@, @ Wi wl o
TARFN BT 8, S W@ SFAHAHA fawE
fqemT 1 \fee 3R STEuM T foshm
ety off e 2

(c) Narendra Modi has been awarded by the
highest civilian award of United Arab
Emirates, the Zayed medal.

(d) International Forest Day is organised on
21st March.

93. Consider the following statements in the context
of “World Autism Awareness Day’ :
1. The theme of this day in 2019 was ‘Assistive
Technologies, Active participation’.
2. Itis celebrated on 2nd April Every year.
3. The United Nations General Assembly
announced this day in 2007.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 and 3 only

(c) 1 and 2 only (d) 1,2and3

94. Consider the following statements:

1. The World Homeopathy Day is celebrated
on 10th April every year on the birthday of
Dr. Christian Freidrich Samuel Hennyman,
the founder of homeopathy.

2. The National Maritime Day is celebrated on
7th April every year.

3. The World Health Day is celebrated every
year on 7th April.

Which of the statement(s) given above is/are
correct?

(a) 2 only (b) 2 and 3 only

(c) 1and 3 only (d) 1,2and3

95. Consider the following statements :

1. National Library Mission was constituted
in 2012 by ministry of culture following
the recommendations of the National
Knowledge Commission.

2. Indira Gandhi National Art Centre is the
nodal agency for the maintenance of the
National Manuscript Mission.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

96. Consider the following statements in the context
of the ‘Defence Research and Development
Organization’:

1. National cyber security has been added to
its functions.

2. The head of DRDO is the scientific advisor
to the Defence Minister, who is the secretary
of Defence Research  Development
Department and the Director General of
Research and Development.
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SudE el W W wE-"/A T 22
(a) e 1 (b) T 2
(c) 1 3R 2 <t (d Td 1 R 2

97. Trefafad werl o @ ®iA-9 & &Y 2?2
(a) S HY 1 35T A T T TR0
i FIfHRE FR & Ufdehad gEl | S
2
(b) HAIfUZIa Wehiadl &1 &M TEH Hl T
FE A YA HT IARA TH @A GHE
HET 2
(c) I I8 4 HwEd wi fava ey feaw’
TR S R
(d) WRA SR o1 HI9 1 HEATTH T 2|
98. fr=fafad woml W faur wifsa:
1. T a9 1 F1 329 FLE e
&3 & IYHHl & fafew ¥ Wit =t fgem
R
2. ‘YYTHA IF IS Al ARAE Siad S
e & 93 swa | o w1 @ R

STdE wedl W W wE-"/A T 2R
(a) et 1 (b) Fad 2
(c) 1 3R 2 =F (d) Fd 1 RAL2

99. FUMH F& o\ AT & Hed # fAfafed
HoAl W fo=m wifsE:
1. I8 18 W 60 Y Tk &I 3U & @l & ford
2
2. 3T ASHl & A geAENl g 81 W 2
@ T SR TR fosherimar st feerfq o
| @@ %9C f&d S 1 qEeEE @

ST el W W wiA-G/H W T 287
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 gH (d T RAE2

100. Frafafaa ol § 9 &H-91 98 87
(a) WG TR foehm@ o 1 TEus 9e&

2l
(b) Tmen fafg =Hal H gUrR & fod T+
qedish B Th A9 He 2|

(c) U sTfaeeh AAE w1 &M@ SLT L
S. 3| HAM g FI T oA
(d) 3= @

Which of the statement(s) given above is/are
correct?

(b) 2only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

97. Which of the following statements is not correct?
(a) The objective of the Basel Convention is to
save human health and environment from

the adverse effects of harmful Wastes.
(b) Montreal Protocol serves to end the
production and

substances depleting ozone.

(¢) The World Wetland day is celebrated on 4th

February every year.

consumption of the

(d) India is the founding member of the
International Monetary Fund.

98. Consider the following statements :

1. The objective of the National Investment
Fund is to provide direction to the receipts
from disinvestment of the public sector
undertakings.

2. The ‘Pradhan Mantri Vaya Vandana Yojana’
is being implemented by the Life Insurance
Corporation of India.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
99. Consider the following statements in the context
of Pradhan Mantri Suraksha Bima Yojana :
1. It is for people of age 18 years to 60 years.
2. This scheme has the provision of giving 2

lakh rupees on accidental death and 1 lakh
rupees in case of permanent disability.

Which of the statement (s) given above is not
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

100. Which of the following statement is correct?
(a) India is the founding member of the Asian
Development Bank.
(b) Shala Siddhi is a comprehensive medium
for the evaluation of schools for their
betterment.
(c) The National Invention Campaign was
started by Dr. A.P.J. Abdul Kalam.

(d) All of the above.
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